8396meealnd wnemlmdeom) - X - 38 (16/09/2021)

4 .60 (@I TVAMUID(EBBUB - OM] - 5 - UBHE) aHlQ

(n1WIMO)]S @YU ®o

ax’ + bx + ¢ agOMLI®0 .

D GO} EENE0d:@I 6NInNn 1RO  p( )

> —b + Vb -
ax’ + bx + ¢ = 0 ©ERY®MOABITE Xx = b £ 21:1 LEE @R)6Mo

1) @Ievocmmlclean;m alsle: aydlajleamns: .

p(x) =0 a b Cc b2 — 4dac

X +6x+5=0 1 6 5 6 — 4X1X5=36-—20=16

X +9x +20 =0

X+ 11x + 28 = 0

2 +3x +1 =0

3x +7x +2 =0

4x* + 13x +3 =0

2) 8@} MoaU(@IOS NIBUOTTIEMIS @R) MRS 6 MSEBRe 5 Do B5IWI@ 0 HslSe .

MU UB GODMIOLOH®IEN) ?

SARATH A S, GHS ANCHACHAVADI , MALAPPURAM



